item

2030 mm m

A4 RKAARKZX M) v 7T 6/6

L6-SGS6/6L
Ra# 60
| “ |
L A A
- [Nl :\’%:

& BEATFER)IFLY
HhS5— Tov7

B8 11g

tEm REAfFEEDF Y M3X0.5-12L

ARARMEEDHRY M3X0.5-12L

A Line67’O07 71 IVERATY,

A4 RKALARKZX MY v 6/6

L6-SGS6/6F
(4?)‘:‘:’5 o AENFEREZ KN M3X0.5-1 f:;
oyry oy | 40 |
° &Ti (i s
% }*1“? u”\ f u”\ T
—| ™ I u T ‘ \‘ T ‘ \‘
L Hil HK
(vl : Ll \I\ ! H w

Lz)= BE FRFIFLY
ho5— 7797

= 19g
ftEm RERHERLFIN M3X0.5-18L

TFy MST(&%% L6-TST3) -2fd

D

TV I-KL-TaD

A Line6 707 71 IVERHTY,

| CADF—9 05 v>0O—R | http:/www.imao.co.jp/

SANIOY

ST

E—=7ed

imH

y
i

—CEON

ZAINSm

==
ZAINSm

K

fiy
&




